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Question Number : 1 Question Id : 6981774897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT a feature of Pre-operational stage according to

Piaget
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Options :

Reversibility
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Intuitive thought

@Ot IrE ad Hn

Egocentric thought
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Question Number : 2 Question Id : 6981774898 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘The child’s arms develop before the hands and the hands develop before the
fingers’, is explained by the principle of
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Question Number : 3 Question Id : 6981774899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



According to Kohlberg's Moral Development Theory, the individual wants to

obtamn the affection and approval of others by being a “good person” m this
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Options :

Stage IV of Conventional level
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Stage VI of Post Conventional level
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Stage III of Conventional level
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Question Number : 4 Question Id : 6981774900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

To assess the previous knowledge and the future fields of suceess of students, a
teacher need to use these tests
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Options :

Achievement and Attitude
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Aptitude and Attitude
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Question Number : 5 Question Id : 6981774901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The intelligence test that has both verbal and non-verbal items
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The Army Beta test
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Raven’s Progreszive Matrices test

Question Number : 6 Question Id : 6981774902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A person forgot to invite one of his closest friends for his daughter's marriage
and justified his act by stating that ‘anyway he wouldn't come as he had
planned an international tour during that time’ 18 using this type of defense
mechanism
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Projection
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Question Number : 7 Question Id : 6981774903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Psycho Social Development Theory' 1s the contribution of this Psychologist
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Sigmund Freud
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Question Number : 8 Question Id : 6981774904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

According to this Psychologist, ‘Learning is insightful’
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John Watzon
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Question Number : 9 Question Id : 6981774905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘Programmed Learning’ 1s the contribution of this learning theory
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Operant Conditioning
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Trial and Error
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Question Number : 10 Question Id : 6981774906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The theory that stressed the importance of ‘more knowledgeable other’ in

child’s learning
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Trial and Error Learning
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Insightful learning
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Question Number : 11 Question Id : 6981774907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Learning violin interferes in learning sitar. This 1s an example of

it
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Question Number : 12 Question Id : 6981774908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The number of steps involved in SQ4R technique of learning and memory are
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Question Number : 13 Question Id : 6981774909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Maslow’s Theory of Motivation, ‘affection’ 1s a
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Physiological need
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Question Number : 14 Question Id : 6981774910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In learner centred pedagogy. the instructor
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does not have any role to play
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1s rigid in classroom transaction
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Question Number : 15 Question Id : 6981774911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following i1s an activity of the Inter-active phase of teaching
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Options:

Administering a test to assess learning after the lesson
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Assessing of teaching strategy through introspection
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Asking questions for starting a lesson
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Question Number : 16 Question Id : 6981774912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Bruner, in ‘enactive mode of representation’ children use
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Question Number : 17 Question Id : 6981774913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is true of enquiry based learning

: .
o P S R N P QLY I O A% B ity
S5 vrrdd efrmard8 Honobot) 8od RS SoIsla



Promotes rote learning among learners
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It develops problem solving skills among learners
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4 % =6 %Ecﬁ (288370858 &gidd ::Tcorﬁc-.;: srrSHt sotnoh

Question Number : 18 Question Id : 6981774914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A gir]l who was injured by touching a rose plant avoided touching all flowering

plants. According to Pavlov, this indicates the Principle of
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Spontaneous recovery
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Question Number : 19 Question Id : 6981774915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following one 1s NOT relevant to formative assessment
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Options :

It 1s conducted twice in an academic year
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It 13 conducted as a part of the teaching learning process
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It gives feedback to both the students and the teachers
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Question Number : 20 Question Id : 6981774916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the characteristic that reflects democratic leadership
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Encourage group discussions
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Question Number : 21 Question Id : 6981774917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to RTE Act, 2009, the appropriate Government 18 NOT obligated to
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Ensure attendance and completion of elementary education of every child
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Reimburzse the school fee of the child who seeks admission in a school of
their choice not owned or funded by the Government
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A teacher shall maintain regularity and punctuality in attending school
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Prescribe curriculum and evaluation procedure for elementary education
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Question Number : 22 Question Id : 6981774918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Attainment of ‘Learning Outcome’ indicates student’s
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Achievement
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Motivation
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Question Number : 23 Question Id : 6981774919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Achievement of a student 1s effected by her ability, family background, school
facilities. teacher's skill etc. Based on the ‘cause and effect’ relationship, as a
teacher identify the ‘effect’ in given statement
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achievement
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Question Number : 24 Question Id : 6981774920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An effective teacher deals with the imdividual differences of the students in

this way

Options:

Putting efforts to remove the individual differences of the students
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Grouping the students based on their abilities in the beginning of the
academic year and teaching them separately
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Implementing the teaching — learning process by considering individual
differences of all the children.
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Considers the individual differences related to academic aspects,
1onoring all other differences
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Question Number : 25 Question Id : 6981774921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

From the following, identify the aspect that indicates the physical and mental

readiness of a student to learn a concept
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Maturation

Question Number : 26 Question Id : 6981774922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In the present state of rapid development of Educational Technology. the

teacher
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Options :

has no role to play
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has a role to play as a facilitator for all learners
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has a role to play towards first generation learners only
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has to play a role as per the wish of the learners only
o ST 868 DB% SrEad D PPhoad
4. B )

Question Number : 27 Question Id : 6981774923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the effects of deprivation of affection among children
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A) Speech development 1s delayed
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B) Difficulty in getting along with others
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C) Being selfish
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D} Unable to concentrate
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Question Number : 28 Question Id : 6981774924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The socio-cultural context of the learner relates to the
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Identity of the learner
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Achievement of the learner
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Question Number : 29 Question Id : 6981774925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Smitha’s father has shown her a bird and asked her which bird it 13. Smitha
compared the features of this bird with the memory she has about different
birds and said it 1s a pigeon. The thinking of Smitha here 1s
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Question Number : 30 Question Id : 6981774926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per NCF 2003, 1dentify the forms of learner engagement in teaching —
learning process
NCF 2005 eeto, SEarelss (HBahs® varpiibhed hifo T drareid HBosob.
A} Observation
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C) Critical Reflection
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D) Analysis
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Options :
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Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 6981774927 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)
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Question Number : 31 Question Id : 6981774928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g=e 5":-:‘5;{:-55’5 R0 e morng -?{n@tio 283 ?
Options :

=
oJe

%
-
oy

REnER0

4 % U C



Question Number : 32 Question Id : 6981774929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o |
o Rt o Lo S ey
o v:uf:', oS o) 305080 o)l

Options :

1.

Question Number : 33 Question Id : 6981774930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 6981774931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 6981774932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



3. %

i P
4. %
Sub-Section Number : 2
Sub-Section Id : 698177253
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 6981774933 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6981774934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 6981774935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 6981774936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 6981774937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 6981774938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 698177254
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 41 Question Id : 6981774939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 6981774940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 6981774941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 6981774942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 6981774943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 6981774944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 6981774945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 6981774946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

- NN AT U S
l.'\.,':'L.;:':q_;-, Eedl adTIPols &

i}
L

(e

ack

Options:

-
200
1. %

5
u
i,
o]



Question Number : 49 Question Id : 6981774947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 6981774948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 6981774949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 6981774950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 6981774951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 6981774952 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 6981774953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 6981774954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 6981774955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 6981774956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 6981774957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id : 698177157
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 698177255
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 6981774959 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the correct

option for each question.

The great achievements of mankind owing to their capacity to channelize their curiosity
are not confined to the field of arts. Perhaps the achievements of science would have
remained unknown 1f man had not been given curiosity to know the world around him.

Newton's curiosity led him to think about the cause of apple falling down and not going
upward. And the result was that he made to know about the gravitational force of the earth.
But for such a curiosity Copernicus might have not written his revolutionary book on the
‘Revolution of Heavenly Bodies'. Nor would we have known about the startling experiments
of Galileo.

Sir Francis Bacon of the 16th century might have not paved the way of experimental
science if his curiosity which caused his death due to exposure to extreme cold and not urged
him to get at certain truths about the way of nature. Scientist's curiosity is, however an
enigmatic-admixture of the idle and the purposeful. Benjamin Franklin who would fly kites
on cloudy days gave us electric conductors with which we protect multi-storeyed high

buildings from being struck by lightning.

Sub questions

Question Number : 61 Question Id : 6981774960 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who discovered the gravitational force of the earth?
Options:

Copernicus

Benjamin Franklin
2. ®

3 % Sir Francis Bacon



Newton
4.

Question Number : 62 Question Id : 6981774961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Who wrote the book ‘Revelution of Heavenly Bodies"

Options :
Galileo

1. #

Newton
2. %

Copernicus
3. %

Benjamin Franklin

Question Number : 63 Question Id : 6981774962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Due to Benjamin Franklin’s contribution we are able to
Options :

: do science experiments
W



protect multi-storeyed high buildings from being struck by lightning.
d

know the gravitational force of the carth.

4 % know about the revolution of heavenly bodies.

Question Number : 64 Question Id : 6981774963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“Nor would we have known about the startling experiments of Galileo.”

The meaning of the word “startling™ 1s
Options :

Surprising

5 % novel

well-known
3. %

“ famous

Question Number : 65 Question Id : 6981774964 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

As per the passage. the main reason for the great achievements of mankind is the

capacity to channelize their
Options :

1 % money

physical energy

political umty

3_ W

4. v CLll‘lDSlI’}'

Sub-Section Number : 2
Sub-Section Id : 698177256
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 6981774965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

India adopted the policy non-alignment in order to steer clear through the cold
war,
Choose the suitable word to complete the sentence.

Options :

of
1. %

to



3 % tor

4 % with

Question Number : 67 Question Id : 6981774966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the grammatically correct sentence.
Options :

How did the program went off?

5  How did the program go off?

How did the program gone off?

How did the program going off?

Question Number : 68 Question Id : 6981774967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One should love parents.

Choose the suitable option to complete the sentence.



Options :

their

our

3 v one’s

his

Question Number : 69 Question Id

: 6981774968 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We for the guest. when you arrived vesterday.

Choose the suitable answer.
Options :

waiting

5  Were waiting

has waited

4. % are waiting

Question Number : 70 Question Id

: 6981774969 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The office 1s open Monday and Saturday.

Choose the suitable word to complete the sentence.
Options :
between

1.4

from

oOver

to

Question Number : 71 Question Id : 6981774970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The foreign delegate has spoken

Choose the appropriate word to complete the sentence.

Options :

1 w frank

> openly



open

4. % fair

Question Number : 72 Question Id : 6981774971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

She her homework just now.

Choose the suitable answer.
Options :

completed

> has completed

have completed

had completed

Question Number : 73 Question Id : 6981774972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.

Options :



occasionaly

5 % ocassionally

occasionally

occassionally
4, =

Question Number : 74 Question Id

: 6981774973 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Let’s go to the market.

Choose the correct question tag.
Options :

1 % shan’t we?

5> % don’t we?

do we?

4V shall we?

Question Number : 75 Question Id

: 6981774974 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the part with an error in the given sentence.

The bovs plavs i the ground every dav.

A B C D

Options :

Question Number : 76 Question Id : 6981774975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The price of the oil is increasing these days.

Choose the appropriate option to fill the blank.
Options:

1.« edible

mndelible

2. %



3 » audible

discernible
4, %

Question Number : 77 Question Id : 6981774976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

She dance since 2015.

Identify the verb form to complete the sentence.
Options :

learnt

15 learning
2. %

was learning
3. % =

has been learning
4.

Question Number : 78 Question Id : 6981774977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the subscription which 1s NOT appropriate for an informal letter.



Options :

Yours lovingly
1. %

Yours affectionately
2. %

Yours sincerely
3.¢¥

With lovely
4. %

Question Number : 79 Question Id : 6981774978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

His father 1s professor.

Choose the appropriate answer.
Options:

an university

a university

the university

4 % University



Question Number : 80 Question Id : 6981774979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The artist frequently visits the art gallery.

Choose the antonym for the word “frequently”.

Options :

1% daily

always
2. %

regularly

4 seldom

Question Number : 81 Question Id : 6981774980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly combined sentence.
A: Radha was 1ll.

B: She could attend the meeting.
Options :

As Radha was 1ll. she attended the meeting.



Radha was 1ll so she attended the meeting.

2 %
3 % In spite of her illness. Radha didn’t attend the meeting.
4 Though Radha was 1ll. she attended the meeting

Question Number : 82 Question Id : 6981774981 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The astronaut said, “It’s a small step for a man but a giant leap for mankind.”

Choose the synonym for the word “giant™.

Options :

1 % swa 11

tiny

big

dwarf

Question Number : 83 Question Id : 6981774982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter in the word *hustle’.
Options :

h

Question Number : 84 Question Id : 6981774983 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The of wolves started hunting the dear.

Choose the appropriate word to complete the sentence.

Options :

1% flock

> pack

3 % troop

4 % pride



Question Number : 85 Question Id : 6981774984 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Children sit in groups and share within the group their reading experience.

This reading 1s
Options :

1% Individual reading.

Solo reading.
2 ®

Isolated reading.

4 Collaborative reading.

Question Number : 86 Question Id : 6981774985 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
This assessment provides feedback to students during the learning process.

Options :

Summative Assessment



Formative Assessment

3. # Term end Assessment

Year end Assessment

Question Number : 87 Question Id : 6981774986 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following 1s NOT a part of lesson plan
Options:

Number of periods required and activities

Teaching and Learning Materials

Expected outcomes from the lesson

4 Students grades and marks

Question Number : 88 Question Id : 6981774987 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In Aural-oral skills: oral skill 1s pertaining to
Options :
Speaking.
1 P 2

> % Reading.

Writing.

Guessing.
4. % =

Question Number : 89 Question Id : 6981774988 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Pick the best classroom practice for developing speaking skill of the learners.
Options :

Following the teacher’s loud reading and repeating after him'her

1. #
5 Participating in the role plays. debates and discussions
3 Memorising the poems and rhymes

Reading the stories along with the teacher



Question Number : 90 Question Id : 6981774989 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

MOOC stands for
Options :
Massive Open Online Course.

1.4

Massive Open Offline Course.

2. %
3 % Massive Open Online Content.

Massive Offer Online Course.
4, %

Mathematics

Section Id : 698177158
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 698177257
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 91 Question Id : 6981774990 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a number 12 increased by 20%. 1t becomes 72. The number is:

B

o 2oy =, o=a e - - \ 5 ’
m y - N ) C " - - ) % J—— - W O
2.8 RDogran 20% ods, 8 RNogr 72 odd&od. vona, &8 Hoy:

Options :

1 % 43

60

.
[y

Question Number : 92 Question Id : 6981774991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The smallest number that must be added to 369273, so that 1t 15 divisible by
8 1s:

. DEOD T A T EOL M ae e o B O BT TN A A
cd O .‘J(]gi [ 350 o) Sedod 2OF0ed Erls, 88 0% LONP ePNowelEon:



Options :

Tl

AN

Question Number : 93 Question Id : 6981774992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The total number of factors of 504 1a:

504 Ging; @ndo seleroste Do
Options:

26

]
]



Question Number : 94 Question Id : 6981774993 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The least number among v/0.49 ,3/0.008,0.234, (D.Z]E 18:

v0.49,3/0.008, 0.234, (0.2)? &&° 534 Hon;;

Options :
(0.2)°
1.+
> % Vv0.49
0.234
3, #*
AP
4 % 0.008

Question Number : 95 Question Id : 6981774994 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The letter among the following letters with no line of symmetry 1is:

8

-

orend”

n

o
&l o

~

06 &

i)

£,

2 Oy 8 wjibo

i

Options :

18 M



Question Number : 96 Question Id : 6981774995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana express starts from Hyderabad at 6.00am on Monday and reaches

Delhi at 7.40 am on Tuesday. The total duration of the time taken by train to

travel from Hyderabad to Delhi 1s:
Boomes o530 Phardo &tidho 6.00 Hobe Frdvrerdd” adhendd, sHoligrdo

68600 7.40 Hotred GOS dhdotnod. & Jen rioe 8 ol L“f"é mdrdodmas

Options:

2 hours 40 minutes

12 Hoéte 40 DTpapen

24 hours 20 minutes

> % 24 Boéxe 20 Dvapren

25 hours 40 minutes

25 Kotxer 40 D&baren
3.¥



13 hours 20 minutes

13 Hoéxe 20 D&napren

Question Number : 97 Question Id : 6981774996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The least common multiple of 4. 5 and 8§ 1s:

s £ s TS b W . S S MY o
. ey - ] e o e . -
snbdin s e Q0005 Sclol aPall®rdr {DEGESO!
G a fatt

4,

L]

Options:

160

Question Number : 98 Question Id : 6981774997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The unit of measuring an angle iz a degree (1°). Its value is:

- o Lig
B mn Ty, EOMY T} st [Q. " |f oY an = T DS
8oy 5703 @eireso G (1°) wonea, TP dens:

Options :



2.8 [@anesod” — & griio
1. % 2
1 :
—*h Hart of one revolution
360
) e 1 ;
2.5 Bonsmodg” e Enlicaitate)
2.9
1 .
5 ke part of one revolution
180
oo B 3 e
2.5 [@aneog 2 gPho
3 % 180
1 .
— part of one revolution
24 s 1o
a8 Bensmoe” — & £FN0
= 90
4, %

Question Number : 99 Question Id

: 6981774998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a twin prime?

Sob A Ede Hoe Doy PRR?

Options :

29,31
1. %

41,43



11573

61, 63

Question Number : 100 Question Id : 6981774999 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 . . . s 1
A rod of length — metre 1= cut into two pleces. If one plece was Z metre long.

the length of other piece (in metre) is:

5

2 A H

G g malndy L R T e e OO Tl et s oy TR o e

s P& Ne 56 Dol ePmen .:.u-'_'raOL.-h-:@ (), arele 2.5 gmho
= e = .

8
2 o ! e SR L. ._.A,-v—\.:
&0l HB°s griio EPtay (abeds ):

o

Options :

3
1.% 2
2
8
2_$$
3
3¢ B
1
2



Question Number : 101 Question Id : 6981775000 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sujatha earns T3275 per month and her husband earns 7675 per month. If

they spend 711525 per month, the amount they save per month 1s:
oerd o T8275 Hoardinod HBc e g Jud TT67S Hoardilrtd. i Joh
711525 i) TR, o 0 o Ta dndo
Options
74250
1. %
, o 4425
35450
3. %
4 % T5425

Question Number : 102 Question Id : 6981775001 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The perimeter of square field is 48 metre. If length of its side is doubled. the

area (i11 2q. 111.] of the square field formed is:

4 P p o o
e e i I T QUL C B . S Gy g e Y A sy AR et Al Ty B
2aehir SP0od S0 LS ey 48 o€, TP r.,.».r"r.’“:-ff' L.a:\._l, 8 EJ:'D.:', Deatons, WC‘.—. ﬁb
ok = ™~ = Pt J
- o
£ st Hous | & o
Hedirsede) gio olng) derero (H.d.ed” )
=1 & B

Options :



144

1. %
g
5 % 288
576
3. %
616
4. %

Question Number : 103 Question Id : 6981775002 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Write the numbers 0.04, 1.14, 0.011. 1.04, 0.02 in ascending order:

Soggen 0.04, 1.14, 0.011, 1.04, 0.02 & 8% Ehod® @radob:

Options :
0.011,0.02,0.04,1.04, 1.14

1.4

0.02,0.011,0.04, 1.14, 1.04
2. %

0.011,0.04,0.02,1.04, 1.14

0.02,0.04,1.04,0.011, 1.14



Question Number : 104 Question Id : 6981775003 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The median of first 9 whole numbers 1s

e ] S TR TR O o A AP A e
Ealnla f'_,l odi- P05 a-'._.z,h'."_v'ﬂ.

i

Options :

L

-
LA

L]
Lh

Question Number : 105 Question Id : 6981775004 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. . : ; ; : 23,
Area (in sq.cm) of a cirele with diameter 14em 1s (use IT = ?}:

: i .7 S
1420.8s. aribo BORAK Hyo nE) daceo (¥.20.0h.08°) (IT=—™ 880k ):

Options :

616

1. %

308



44

154

Question Number : 106 Question Id : 6981775005 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
15% of 6300 1s:
63005° 15%:

Options :

9350

2. 045

0450

=
L
|

Question Number : 107 Question Id : 6981775006 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

20.301 X 29 =

Options :



45.9509

5 % 60.2749

59.8769

4, #

Question Number : 108 Question Id : 6981775007 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
If speed of the car 1s 60kmph. Time required (in seconds) by 1t to cross a bridge
of length 450 meters 1s
& 3o Kotk 6085 wona, 450 EC@D SPED Be Hoddd orete

”?Ld‘o{ VESEE):
Options:

30

|
¥ ]}



Question Number : 109 Question Id : 6981775008 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of vertices in a aquare pyramid are:

Options :

h

1.4

3. %

Question Number : 110 Question Id : 6981775009 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Seetha earns T15000 per month, out of which she expends 76000. Then, the

ratio of her savings to her income 1s:

56 J0 715000 Hosrbinod, wothd® am 76000 p& Dkod

srdiras He ,,{u t-'_',-
Options :

25



Question Number : 111 Question Id : 6981775010 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following figure has no line of symmetry?

r~

e o e 0y

Bob 78&® TPas Ty 83 Héo ab?
=

Options :

A circle

o 1_’\_‘*"
% &5 nd@o
'l. Cadny OB h\_,-. -

A scalene triangle

3 "
o) (BEDe0

=1 ) e :
= L [ERg LT

Ty a2
-
odoload &7

2.

A rectangle

e.5 u’?*:_:ua palavelhsle)

3. %

An equilateral triangle

. ¥
[ T e
255 rdodd EPel0 (e9CUE30

4, =



Question Number : 112 Question Id : 6981775011 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 4tk js Wednesday of a month, the last Wednesday of that month is on this

date:

[}

[+

[
I
oF
@l
]
5]
b
N
[=
4
R,
(8]
|'|%
8
@l
|!_"--:
2l
]
]
2r
o
o
L
N
o
[
&
@l
o

-
s -
S ek

Options :

L]

Question Number : 113 Question Id : 6981775012 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
102 X 98 =

Options :

9998

1. %

0398



9996

9596

Question Number : 114 Question Id : 6981775013 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Two supplementary angles differ by 358°. The largest angle of them 1s:

F“:\

o 38°. wond THSt & %“E“::u.

058 S ere

— S
R
COla) o uE,-

Options :

Lk T9°

109°

142°

4 % 119°

Question Number : 115 Question Id : 6981775014 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What 1s the main drawback of the topical approach?

= EREY o {w’
& 3 ol [2IL W& :qu:a..,ES.}

i

A.,-'\An
J.J

I _|-|-|

tmaEe



Options :

Lack of logical order

.
Y L o - T
@85 % S50 B0

1. %

Minimum role for teacher

oy Wl T " 2
f_i:-.- ‘l.;.l II‘G:':‘.S :H\.-QJ‘ C- '-*.%

2. %

Lack of connections between topics

eoare - Bomotio BE5ESEo

Lack of consideration for students maturity levels

Il o =
ABBE e Sroned) SBReSE e HshKarsK
ﬁ,"’ 2)00558 PO SBNaSE S 8 ErSdo
=

Question Number : 116 Question Id : 6981775015 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The most appropriate way to correct students' mistakes by the teachers 1a:

-

o = . e fAJ'\- o T
"f.f e wf"—‘h ] _?-:g E3edd rald El wé Pﬁ‘i?# '-':-"-‘3 n:'.:IJJ?.J@ oJP! “'1

Options:

Criticizing openly

. ileTnlalo i v layle talale)
1. .



Providing constructive feedback.

e £ st pas BTy BT ey
r_-r_.‘::'éEw:"i‘!_?:* G;-E?:-:If:c-p:.-\h..' LoootiEo
2

2.
Isnoring the errors.
& e Ay Bosto
3. %

Discouraging exploration.

j"-{,_',ch.z_h LT AT
4 W '?:':';\,;cﬂ;-'-:im.l :J":J_,-@-E_'IG.TDQJD?LEEG

Question Number : 117 Question Id : 6981775016 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
What 1s the significance of involving distinguished educationists in the

educational process?

~

™ - -
ot st OTR D O P PR TR - —— [ LA, -
g:'xhl':; IOJg@,'é' ot Tol g:'L,]-_ e aPE mEo ’-':i_u_:::i'gr ,‘-_:..,"-:Tfu_p' réh olodnfl ?
= = g a o 2

Options :

To increase administrative workload

- Hbarame HAgrTel) Dot
To provide guidance and inspiration
G gl P S a
SPBN55E 0 HBc s wododdo
2. v ’

To enforce strict rules and regulations

560501 Jdharen HBAD Jeootided eihen Tadio



To limit creativity in teaching methods

A

4 8 SOTD

:u_, \f g:' l.%':' L;':t‘_-"h(:'

{
%
r_; "
l'_
EEJ:
"_f“x

EX
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i

Question Number : 118 Question Id : 6981775017 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Cuisenaire Strips facilitate the students to learn the following

mathematical concepts:

n —_:': Lo -, R S SN S £
5F J':' ||:|'T' & He DoTeend e 5 e 0E0ED c,.aLJ',_"MP” 153 & t-a L8P 000
i d n) :

o

e
2

Options:

Addition and subtraction

iy]

1. LS S0Bdin 8

i,
crd

Area and volume

Multiplication and division

3 % Deasedo s0Bdin eriicido

Composite and prime numbers

A ST SV B A .
cdO0N0S s08aXD [0)TPed cdOEI5EN

Question Number : 119 Question Id : 6981775018 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The purpose of setting Educational standards for the teaching-learning

process 1s:

By
SN 0

Options :

To set the goals

. LT = g i
=l Y] ;J=gﬁo?hho

4

£

1.4

To promote rote memory

B - L T
2] Dddad BlPE PO
B L= ) - P

2. # &

To umpart excess information bevond the capacity of the learner

vy N - Cod oy M,
EEP o050 oPoDT0P o8 ot 'f':'"t."%-og, JelP TRy @obotitio
2] fats. .

To curtail the mnvolvement of the teacher

B oo ey b e 4y £ oy B
ol TP 0N [Hdird) SRodtels

(3]

4. %

Question Number : 120 Question Id : 6981775019 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 18 NOT a component of mathematical reasoning?

-

OB N3 @8 888" grifo SoE?

h

o @8

Options :



Hypothesizing

i
Py
D58 w0

Generalizing

Subjectivity

s~ 2 -
e
Rl e Wal)

el

[

Justifying

Environmental Studies

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Maximum Instruction Time:
Sub-Section Number :

Sub-Section Id :

698177159
5

Online
Mandatory
30

30

30

Yes

0
1

698177258



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 121 Question Id : 6981775020 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Potato 1z a modification of

. & o

A iy A P
20MPE ool B30 B OFaFoB00
Options:

leaf

EE
1. 8 %F

root

fruit

af
D.'OLH.'-.-'

stem

&
<
g

Question Number : 122 Question Id : 6981775021 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



One of the following iz NOT a step in making clay pots

8ob arE® S Hode Soirbs® 55 5208

Options :

separating stones from clay

oD ot BchEo

1.¢
rﬂlling soft soaked clay on potter’s wheel
%5026 Sigo Dl THBES DED HHAD &5
2. % - :
tapping the pot made on wheel with a wooden plate for correct shape
208 edo o 3% Hons® Sifon S0 DhE Dot FE o
3. %
baking the dried pots in a kiln
4% aJofi Hodern sHod” sPetio

Question Number : 123 Question Id : 6981775022 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The scientist who believed that electricity 15 caused by a moving liquid called

‘Homer 13

J‘..

L . ; T P e £ - ol e
.:,ho 63, FA5 e Lendal 08 2D o 58330 SneEo0N EPOOTH %ﬂgﬁﬂ_

£

Options :

Thomas Edison

E'."'I

w0 wh
PR bt

1. %



Rutherford

" ST
levuinlah vl
L

2. ® )
Willhiam Galbert
Do Aed

3.¢ by
Bohr

4 % 56

Question Number : 124 Question Id : 6981775023 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct statement about Dr. Beamont's experiments on stomach and
the process of digestion

£ o : v Py = a 3 ¥ o L e A £ S Fly
E'ED""T.‘:'.TJQ nBdn Jt}g’jﬁ' [o3( e ok 3 ér EPral P08 (oS 0o H',BEI EVELE TN

L

sothF ol
Options:

Food 1s digested slowly in stomach than when placed outside the body

provided with digestive juices

F600 FTenoe oo ég Bred) wobodd %ol L5988 wesfio JehyBre
E‘-"-éaé;-{i}oﬁ

When a person 1s unhappy. the process of digestion 1s slow

28 88 & So8thomr ﬂa“iné; 5 '*tﬁ Ecd 580D s Hre e3thib&od

L=
2]

2. &



The digestive julces present in stomach are basic in nature

F oo TR o s Lt 4 o ! A A A - -
BIchod” ok &8 Saren prHfBorr 520 Hrgrso 59A dotron

Half boiled eggs took more time to get digested than skimmed eggs

?u o0 D& Lof o 688005 gy "é SeaGES u,éJ 1o eenCho athioh

Question Number : 125 Question Id : 6981775024 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Weuse  to measure a string of flowers
o ool Fodtedd drHsran.
Options :
scale
1 % BPead

foot span

entird

4.



Question Number : 126 Question Id : 6981775025 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A medium sized tomato contains the following amounts of proteins and fibre
respectively

- o © r [
(-3 LR RN n« [N N S L=« LN Ly« (N TRl m e o -] 1 g R A NS E : BT O
hb06ho Rerd”® ot FartlE® Shar & -_é'-?f:' B0 Bl a00dm o€ &ofron

Options :

1.8 gms & 3 gms

1.8 ye. & 3 .
1. %
4.3 gms & 1.5 gms
4.3 . & 1.5 .
2. %
1.08 gms & 1.5 oIS
1.08 pe. & 1.5 w.
3. %
2 gms & 5 oms
2 . & 5 .
4. % i

Question Number : 127 Question Id : 6981775026 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The excess growth of this plant m waters reduces the amount of dissolved
oxygen leading to the death of the water organisms, animals and plants

3

i Doatalat  Famed wop o s BB Ty wfOet A WL o el
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4. %

Question Number : 128 Question Id : 6981775027 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the non-luminous object from the following
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Earth

Star
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Glow worm
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Question Number : 129 Question Id : 6981775028 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The source book that keeps a record of all the endangered animal and plant
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Yellow Data Book
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Question Number : 130 Question Id : 6981775029 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Lime water is
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Sodium Hydroxide
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Question Number : 131 Question Id : 6981775030 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Carbon dioxide was called ‘fixed air’ by this scientiat

]
DO 3y DR e)adh

= ! ! = 2
. ol el = = = —

EII|:.

mE-Ed "5 et el

J.B. Pristle;:
J.B. gic3_

Von Helmont

Joseph Black

UH]

"
g

- -
o] i.n?}

4. B9

Question Number : 132 Question Id : 6981775031 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Our Wrist 1s made up of several small bones called
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Enuckles
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Question Number : 133 Question Id : 6981775032 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the factor that does not affect the temperature and the climate
among the following

éOh D_::'ES?_:; ﬁ&lﬁ}q‘ G.rJ\_'j;_l_l o7 Eam ":'l;\':l3‘.‘»«"85‘:':"-\«-\I .':! &-G\A?-'O 56&‘“ WF{SF -\_, ‘HLFC'CI?.-\.O 3
Options :

Distance from the equator
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Altitude of the place from the sea level

Land-water relationship
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Question Number : 134 Question Id : 6981775033 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Colour code “Dark Grey” is used to represent this land cover and land use
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Land useful for agriculture
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Mopuntains
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Question Number : 135 Question Id : 6981775034 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following. people considered this sea as ‘Middle of the World”
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The Mediterranean Sea

“_?, s0GOT° w0

1.

The Casplan Sea

Y NP — SV
‘:i'f:,l;’:}_':'m coeadBio

2 23 [ ﬂJJJL‘:J'-_,'
The Black Sea
He Hawitho

3. % = E
The Adriatic Sea



Question Number : 136 Question Id : 6981775035 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 1323, Sultan Mohammad Bin Tughluq defeated this Kakatiya ruler and put

an end to the rule of Kakatiya dynasty
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Question Number : 137 Question Id : 6981775036 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



These leaders of the Indian National Congress adopted the Policy of ‘Pray,

Petitipn and Protest’
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The Gandhians
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The Extremists
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The members of the Constituent Assembly
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Question Number : 138 Question Id : 6981775037 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The foreign traders and travellers who visited the Vijayanagara Empire were
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Marcopolo. Nicolo Conte. Abdul Razak and Domingo Paes
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Nicolo Conte. Doming Paes. Nuniz and Abdul Razak
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Nicolo Conte, Nuniz, Marco Polo and Vasco-da-gama
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Question Number : 139 Question Id : 6981775038 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following iz NOT the correct statement regarding the Gram

Panchayat
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Options :

A panchayat will have at least five ward members and may have as

many as 21 ward members
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Any person who 1s 21 years or above can contest the election
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TS BoBE. )iy, o)y s0BAM ADeB BesCiis AP0 B

4.

Question Number : 140 Question Id : 6981775039 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per this Fundamental Right. the Constitution in no uncertain terms
abolishes untouchability and its practice in any form
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Right to Freedom
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Right to Constitutional Remedies
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Question Number : 141 Question Id : 6981775040 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This court deals with the criminal cases at district level
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Question Number : 142 Question Id : 6981775041 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 15 NOT the correct statement regarding the activities of

Mandal Parishad Office
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Options :

It receives complaints from the people. and responds immediately
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It undertakes Construction and repairing of roads
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Question Number : 143 Question Id : 6981775042 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In 1906, Bhagya Reddy Varma started “Jagan Mitra mandali” to
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Options :

Establish schools and colleges and educate dalits
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Unite dalits and make them to fight for freedom
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Spread awareness among dalits by using popular folk arts
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Question Number : 144 Question Id : 6981775043 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT the Source of Income for Gram Panchayats
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Options :

The minor taxes levied by the Gram panchayats
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The Grants from the state and central Government
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The willage panchayats are authorised to collect Profession tax from
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Question Number : 145 Question Id : 6981775044 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher often asks probing questions while teaching environmental studies
1 class V. By doing so. he aims to improve these.
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observation skills
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listening skills
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thinking skills
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Question Number : 146 Question Id : 6981775045 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following represents one of the main objectives of teaching
EVS at primary level?
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Options:

To inform the learners about the books they should read to expand their

Knowledge
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To create and nurture curiosity in children about the world around
them.
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To make learners aware of technical terms and definitions
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To assess technical terms related to EVS
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Question Number : 147 Question Id : 6981775046 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In class IV, a student is able to ‘imagine the results based on the familiar
information’. This learming mndicator belongs to which of the following
academic standard?
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Experiments - field observations

e a8 S
pIdirETren — 51 HBdeden

1. %
Conceptual understanding
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Questioning and Formulating Hypothesis
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Information skills, projects
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Question Number : 148 Question Id : 6981775047 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following related to academic standards and learning indicators
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formulation of hypotheses
pr3joito, 308enKen

Information zkills and 11l )
project works

.
g s e
HSaPaed DE0s 3 wo_g,.ET o,

ChODSE‘ the COrrect answer:
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Question Number : 149 Question Id : 6981775048 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Review of related literature’ can be taken up in this stage of section research
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Options :

Developing stage

Action stage

’ e
e D

Planning stage
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Reflection stage
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Question Number : 150 Question Id : 6981775049 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1z NOT TRUE related to a map?
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Options :

2.

4.
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In map, pictures are shown in small size in symbolic form
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Survey of India prepares standard maps
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Only one thing is shown at a time in a map
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In map, the realities are expressed in technical languages as they are
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